EEFARLOMIER ($M6FE6AKR)
SM6E6AXRORMHKR1 1 4HEERBE+ 184

- BEODHW2E. NASRAWEDHWSENZ2SEHTLEXT,
- EEXEEZESDHLESHOLZED. EPEDBEZHELILELS.
- BRI A SR T IVLAFZFEALEXL &S,

1 #%x1 0 FDRAMEBRDERE

4 ™
() (%)
600 75
400 - 50
200 - 25
0 1 sf6E | O
FrizeE | FrRi2vE | FrRieE | FhizsE | FRE | SfaE | 5f2F | SF3EF | fi4E | $HsE (%‘H?E)
— RO 574 67 349 284 383 az0 202 193 184 208 114
— 301 109 100 a7 118 152 118 93 3 57 42
el R 52.4 29.7 8.7 2.7 0.3 475 56.4 48.2 8.8 27.4 6.8
. J
2 BRIREKR
4 ™\
()
35

30 7'<< y il

20
15
10

5
0

1H 2H | 3R | 4H 5 | 6H | 7H | 83 9H | 10H | 118 | 12

— G FIAE | 17 11 15 17 15 10 10 15 20 16 14 24
- TFEE | 12 22 20 17 9 16 15 21 15 20 11 30
\ e T FHIGE | 21 16 31 21 11 14 )

3 BESH
BAORNBEEIRR BAFEAMNFEEKR
4 HBH2.6%

~H

0.9%
£wA0 Sk ClOTE]
30.7% AFE
: 8.8%
ik o
7.0% HZAWY
51.8%
F Ot .
49.1% TOHO "Tﬁfg
H:llln »f 0
19.3%

18.4%




4

i B A Bl FB A A 2K

AN AN
PHOT | RSl | wEk | mEs
&5t 114 [ 96 18 18.8%
FEM 13 25 -12 -48.0%
FERFREX 4 11 -7 —-63.6%
FEMERIIIX 6 4 2 50.0%
FETREERX 1 4 -3 -75.0%
FETEERX 2 5 -3 -60.0%
FEMKEX 0 1 —1 —-100.0%
It 2 10 -8 -80.0%
fa¥E™ 12 8 4 50.0%
WEM| 10 5 5 100.0%
$FHE™H 8 2 6 300.0%
AL 2 0 2 —
B E ™ 1 0 1 —
kg™ 0 10 -10 -100.0%
BEm 3 3 0 0.0%
et adit] 2 1 1 100.0%
amh 14 0 14 —
mRE™ 6 5 1 20.0%
Jril™ 1 2 —1 —50.0%
JI\NFHKH 4 2 2 100.0%
A i t] 2 4 -2 -50.0%
goamh 0 1 -1 -100.0%
BiEm 1 4 -3 -75.0%
SHEh 0 1 -1 -100.0%
PL#EnRE ™ 4 0 4 —
4™ 1 1 0 0.0%
AN 0 4 —4 -100.0%
ENFaH 3 0 3 —
=E:iil 4 0 4 -~
EEH 1 1 0 0.0%
MEE™H 0 1 —1 -100.0%
R T 1 1 0 0.0%
W HH 5 0 5 —
KEEET 1 1 0 0.0%
R HT 4 0 4 _
BRIEHT 0 1 -1 -100.0%
N+ EHT 0 1 -1 -100.0%
2 LT 2 0 2 —
RAEF 3 0 3 —
T 1 2 —1 -50.0%
KZEH 3 0 3 -

KIFIEIEINE RS

HKEEDHRWHEIAICDOWTIZEE




= 71N

GAITE-)|

GollE=)

FERIFRANHEL

[(REZE]

(COIIE-!

N

(HEBEREEE]

[m#EE]

% )
%

[R£E]

[(ZRE]

(W #E]

L}

10#- £

5L EOBUT
14U EALT
RAEGL

2= == ZE|[smeFeAX
FEH R 4
F E H 2
T E PH 1
T+ E B 0
+F FE Jdt 6
= E ¥ 2
A\ F & 4
ie] = 8
h & = 4
#q g B 0
izl JI 2
iT & 0
i) 0
[N 6
N 4
i 8
bis 14
B 1
® % 2
1= 0
e RES) 4
574 5
2z 0
EQ 8
== 0
£k 0
0

0

3

4

6

5

3

6

1

1

0

0

0

G i vl P = e D e =

= |- (i R i S 3 | [ [ | 5 [ [ D O |- || [ O




